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COOCH BEHAR PANCHANAN BARMA UNIVERSITY
B.Com, Honours Pari-1l Examinations, 2018

CORPORATE ACCOUNTING-HONOURS

2H1

UNDER-(1+1+1) SYSTEM
Time Allotied: 4 Hours Full Marks: 100

The figures in the marein indicare fill marks,
Candidares are reguired 1o give their answers in thetr own words as far as practicable.

GROUP-A
Answer any fowr questions from the fallowing | 3= =il
B The Balance Sheet of M, Co, Lid. included on 3 15t March 2017 the following: 1243
5000, 6% Preference shares of Rs. 100 sach K=, 500,000
{Fully called up)
Less: calls in Asrear [@Rs. 20 each on 120 shares) Es. 2400

Rs. 4,97 600
S0000 equity shares of R, 10 ecach fully called up Rs. 500,000, Profit and Loss Ale
Rs. 2.25,000 (Cr.), Securities Premium Rs. 28.000. Cash ot Bank Rs. 2.90,000.

The company redeemed the proference shares at a premium of 10% before which it
sent reminders o the holders of the partly paid preference shares to clear their dues.
Holder of 100 shares paid their dues on or before 30th June 2017 beyond which date
the company decided to forfeit the defaulting shares on 3151 July 2007 and reissue
those as fully paid on receiving R, 1,000 at once,

The company completed the redemption by 3ih Sept. 20017 except ihat the holder af
30 shares could not be triced.

The company. issued 30,000 equity shares of Bs. 10 each ot par to finance the
redemption,

Show Journal entries Tor the above transsctions mcloding bank tmnsaction in the
books of company and their efTect on the Balance Sheet of M. Lid

2. X. Lwd and Y. Ltd are engaged in similar type of business. They decided to 1045
amalgmmaie their business as on Ist April 2017 by forming Z. Lid. with om
authorized capital of Ks.1,00,00,000, consisting of 6,00,000 Equity shares of Bs. 10
each and 40,000 Preference shares of Bs. 100 each. The Balance sheet of X. Ltd. and
. Lid. as on 315t March 2007 are:

Liabilithes X Lid Y Lad Asspfs X Lid % Lid
s, Hs. ks, R
Equity share capital 30,0000 1000000  Land and 1400000 500,000
Blaiilelineg
9% Prefl share Capital 15,00, 00k} - Flam 3140000 300,000
Cienieral Reseree 1200000 4000000 Fumire 140,000 2,710,000
Profit and Loss Adc 3 80,00 T3040  Padents 300 00 -
Sundry ereditors 4200 12500 Sinck G 40000 450, ()
Diehiors 160,000 1.30,000
- Bank _B,00.000 50,000
68,00,000 16,00,000 B5,00,000  16,00,000
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The following tenms were agreed upon by the parties:

(i Z. L. to allot 4,50,000 Eqoity shares @ Rs. 10 each to X. Ltd. and pay cash
Rs. 13,530,000 as conssderation of all assets except bank balance.

(i) Y. Lid. o receive 1,20,000 Equity shares of Rs. 10 cach and Rs. 2,50,000 in
cash for whole of assets except the bank balances.

(i} Al assets are aken over a2 book vaiue,

{iv] Both X. Lad and Y. Lid, are to pay their own linbilitics and Preference
shareholders individually.

(vl Z Lid. is 10 ssue remaining Equity share and Preference in cash. This issue is
fully ssthseribed and paid up.

{vi) Z- Lid. paid Rs. B0,000 as formation expenses.

(vil) The liquidation expenses Rs. 30,000 and Rs. 50000 for X. Lid wnd
Y. Ladl were also paid by Z. Ltd.

Show pecessary, Journal entrics in the books of X. Lid and prepare Balance Sheet of

Z. Lid. after Merger.

3. S Lad having an asthorized jssued and paid-up capital of 5,00,000 Equity shanes 10+5
divided into 5000 Equity shares of Rs. 100 each presents before you the following
trinl balance on 31.12.2007:

i, Cr,
Particulars Amount Particulars Amunt
AT, Ra. Rs.
Land and Bailding Sundry Creduors . BO000
Plant and Machmery 4,012,300 | Reseewe Fund 34,000
Fisnibure 32,500 | Profitond Loss Ade (112017} | 22,000 |
Cash i hand 1,250 | Bunk Cverdraf 1 23950
% Hionds Purchisse Renms 14500
(Mominal value B, 25,040} 24,10
Choscsiifl 40,000 | Sales 768 500
Bills Receivable 34,000 | Share Capital 00,6600
:ﬁt_:lmﬂEgg_uu 16008 | %% Debentures 2,400
| Muitir car 75040 |
| Sainadry Dietaom AT 00
Purchases 6, 00004 |
Adveriising B350
Sales Retom 17,500 '
Legal Charges 1 300
| Carriage Inwards 8,250 |
Wapes 8,000
Fieni 12,000
Stock {1,1.217) 119,000
Tax paid 10,000
Repairs 1900
Loose ok (L
| lmerim Dividend 5 Nm)
16,99, 950 16,495,950

Additional information:

(2) Charge depreciation = 12.5% on Plant and Machinery, 7.5% on Fumiture,
15% on Loose tools and 10% on Motor Car;

(b)Stock in trade on 31122017 Rs. 1, 10,500;

(¢) Provide for outstanding interest on debenture for the whole vear;

(d) Bonds were purchased on 1.1.2017;

(e} Write off prelimmary expenses Rs. 1,000 p.a.;

(=]
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2H3

You are required 1o prepare:!
(i) Prafit and Loss Account for the year ended 315t December 2017.
(i} Balunce Sheet as on 31.12.2017.

Tkummﬂsﬂhﬁhﬂﬂl‘. Ltd. and its subsidiary 5. Lid. ane:

Balamce Sheel
ason 315t March 20017

Linhilites . b, 5 Ll Anspts P Led S Lad,
Rs. Ha. Rs. Ra. |
| Equity shares B.00,000 | 400000 | Crowdwill = 20000
i, Preforence share = 1000000 | Fined Asses 150000 | 250,000 |
Cruneral Reserve [ JE."M Invessment I B ()
Profit and |ass Ale EEEL_%;"L_EE %ﬂ'ﬂ %

Rills payuble Prehiors L0000 | 2
Creditors :L_'%ﬁ ﬂ%‘"m 000 | Rills Reesivable 40000 | 35000
Proposed dividend | 6000 | 40,000 | Cash 20,0061 45,000
FL00,000 | 150,000 1200000 | 10,50.000

P. Lid. scquired msterest m 5. Lid by acquiring %lh Equity share capital of

5. Lid. at premium of 20% on 15t April 2016 Prepare a consolidated Balance Sheet

in the books of P. Lid as on 31st March, 2017. The following further information is

10 be tuken into acoounic

(i} Profit and Loas Ade of 5 Lid. includes an smount of Rs. 20,000 brougf
forward from the vear 20]15-16.

(i) Creditors of P. Lid include an amoumt of Rs 12,000 purchases from
5. Lad. which are still unsold. 5. Ld. sells goods at 20% above cost.

(ifiy S. Lid remited & Cheque for Rs. 10,000 on 31st March, 2017 which was
received by P, Lod. int the Month of Apeil, 2017

fiv) The Directors of P. Lid. and S, Lid, have proposed a divided of 10% on Equity
Share Capital for the year 2016-2017.

Batance Sheet of Fortune Lid.
ms on 315t Dec 2017

T imbsiliies Mimawimi Kuswls Apsunt
He. Hi.
Equity shares of B 10 gach 10, T | Chosssdiill 2 50, (MK
Fapuity shanes of Ra, 4 guch 500000 | Fined Awsets 500,000
Crenernd Beserve 200,000 | Siock ANk (M0 |
Pt and s Ale L0000 | Dhebiors 700,000
_Cirmtuity Fumd J3.000 | 123,000
Waorlamen compensation | une 23,000 | Prepaid Exp. 1 610K
Drepregintion Fund SOA00 | Preliminary Fxp. PR
Crndisn 151000
I.MM 1501000
2250, T2 800,00

You e required to ascertain the fair value of shares after considering the following

information:

{a) Fised Assets ol the company worth Rs. 300000 and Debiors estimated fo be
worth Rz, 7,350,000,

tb) Re. 15,000 Creditors are outstanding for muy vewrs and it s estimated that the

mmounl will not be pavable and a disputed bonus ¢laim shall have to be puid for
Rs. 301,000,

15

15
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(e} Davidend paid for the fnst 3 vears were 129 11% ond | 3% where normal mate of
retirn 5 10%%

{d} Goodwill is to be considered as average of book value and 4 years purchase of
avernge super profit for the st 3 years.

(e} Profit for the last 3 veors were Re |OS000, Rs 250,000 and R 2.05.000.
Ignore income Tax.

India Gas Co. Lid. rebuilds part of its works at a cost of Rs. 3,30,000, The pant 15
of the old works thus replaced cost Rs. 130,000, A sum of Rs. 8,400 is

realised by selling old materials and old materials valued at Bs. 4,600 are used

in reconstruction and included in the cost of Rs, 330,000 mentioned above.

The cost of materials and labour are 12.5% and 15% respectively higher now

than when the old works were built. The proportion of materizl o labour in

the works was 7:3.

Ciive the Jourma] Entries,

Define the following: §+5+5

() Classification of Assets of Banks

(b) Won-performing Assets
{c) Right shanes,

8.4a) Ihstingush between Revenwe Adc of Life Insurance Business and Revenue 34545

Ade of General Insurance Business,

|b) What do you mean by Lite Insurance Fund?
(c) What 1s Reserve Capatal? How does it differ from Capital Reserve!

GROUP-B

Answer any foar guestions from the following: dwd =20

{2) On |.4.16 Subiman had 25000 Equity shares in A, Lid, at a book value of 5

Rs, 15 per share (Face Value Rs. 10). On 1.6.16 he purchased 5,000 more
shares of the company at Rs. 16 per share. On 15.8.16. A, Lid. issucd Bonus
Shares on the basis of [:4. Dividend (@) 10% for the year ended 31.03.16 were
paid by A. Lid. on 311016 but no dividend was paid on Bonus shares. On
L1216, 30,004 Equity shares were sold st a premiom of Rs. 5 per share,

Prepare Investment Account in the book of Subiman on 311216

{b) A liquidator is entitled to receive remuneration (d 2% on the assets realised 5

N5

and 3% of the amount distributed among the unsecured creditors, The assers
realised Rs. 25 00,000 against which payment was made as;

[iguidation Expenses Rs 25,000, Preferentinl Creditor Rz 75000 apd
Secured Creditors Rs, 10,000,000,

Calculate the remuneration payable o liguidator.
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(¢} The authorized capital of X. Lid. is 13,000 Equity shares of Rs. 10 each, out of k]
which 8,000 Equity shares are fully paid-up. The company has the following
halances:
Share premium Rs. 5,000
General Reserve Bs, 18,000
Profitand Lass Afc (Cr.) Es, 47,500

The company has decided to capitulise Share Premium and General Reserve in
full and part of the Profit and Loss Afc as necessary for this purpise by
issuIng:

One Bonus Share ar a premium of Rs. 2 for every two fully paid Equirty Shares
held.

Pass necessary Journal Entries for Bonus Issue.

{d) How are unclaimed dividends treated in books of account of a company?  2.5+2.5
What is Dividend Equalization Reserve?

(e} What are the different types of bonus given under Life Insurance business? 342
Explain their accounting treatment.
(f} The following balances appeared in the books of a company on 1st January J42
2015:
Particalars Amount
Rs,
12% Debentures 4,000,000
12% Debenture Sinking Fund 3,00, (K

2% Debenture Sinking Fund Investment  3.00,000

(Represented by [0% Rs. 4.00.000 secured bonds of Gove. of India)
Annusl contribution to the Sinking Fund was Rs. 60,000 made on
31st December each year. On 31st December, 2015, Balances at Bank was
Rs. 300,000 after receipt of interest on Debenture Sinking Fund Investment.
The company sold the investmen! at a loss of 15% and the debentures were
paid off.
You are required 1o prepare the following socounts for the vear 201 5

(i) Debenture Sinking Fund Ajc

{ii) Debenture Sinking Fund Investment Afc

(g} Write short note on Contra-item in Bank Balance Sheet.

(h) Distinguish between Interim Dividend snd Final Dividend. 3
GROUP-C
10,  Answer any fen questions from the following: 2=|0=20

{a) What is super profit?
{b) Can dividend be paid on calls-in-advance?

L 5 Turm Cver
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{c) MWame different methods of liquidation of companies.
{d) How can Capital Redemption Reserve be utilized?
{e) What is internal reconstruction?

() What are calls-in-arrcar and calls-in-advance?!

ig) Define Unsecured Creditor.

(h) What is Convertible Debenture?

(i} What is 2 wholly owned subsidiary?

(j} Name four Hlems to be shown under the head ‘Reserve and Surplus® of a
Company Balance Sheet.

(k) What is Surrender Value in insurance business?

i1} Under what circumstances a company can withhold its public issue of shares?
(m)} How is the Value of Right computed?

in) What sre CRR and SLR?

(0) State the differences between Debentures and Shares (two points),

2015
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COOCH BEHAR PANCHANAN BARMA UNIVERSITY
B.Com. Honours Part-11 Examinations, 2018

COST ACCOUNTING-HONOURS

2H2
UNDER-{14+1+1) SYSTEM
Time Allotied: 4 Hours Full Marks: 100

The figures in the margin indicate fill marks.
Candidates are required to give their answers in their own words as far as pracricable

GROUP-A
Answer any four questions from the following 15%4 = §)
I. (u} Distinguish between Cost Accounting and Financial Accounting, 4

(k) ABS Ltd. has undentaken the construction of a road for a Corporation. The G+3+2
value of the contract is Rs. 15,00,000 subject to retention of 20% until one
year afier certified completion of the contract and final approval of the
Corporation's engineer. The following details are shown in the books on 30

June, 2007,

Partlcalars Amowni

Rs.

Labour on site 4,05, ()
Materials Purchased 4, 20,000
Materiaks ==nt from store 8, 12,000
Plam 12, 106
Direct Expenses 23,0060
General Overhead allocated to contract 37,100
Materials on Hand on 300062017 6,300
Wapes Accrued on 30.06.2017 7.800
Work nat yet cenified at cost 16,500
Amount cerfified by Corpomtion’s enginser 11.00,000
Cash received on aocount B.E0.000
rect Expenses accrued an 30,06.2017 1600

Prepare: (1) Contract Account
(1) Contractes’s Account; snd
(i) Show how it would sppear in the Balance Sheet.

20146 | Tt
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2- (a) Explain the diffecence between Fixed Budget and Flexible Budger,

(b) Babloo Ltd, is running four buses hetween

Cietaldsh and New Coach Behar,

covering a distance of 100kms. The seating capacity of each bus is 40
passengers. The following particulars are obtained from its Books for the

month of October, 201 7

Particulars Amount

Hs,

Wages of drivers, conductors 0.600
Salwries of oifice stuff 3,000
Honorarium of accountant 000
Diesel, oil, e1c, 16,004
Repairs and maintenance 3200
Road tax and insurance 6,400
Depreciution 10,400
Interest and other charpes £,000

Actual pessengers carried was 75% of the seating capacity. All the buses

ran for 3days. Each bus made one

round trip per day, Find out the fire the

company should charge per passengerkm if it wants 4 profit of 200 on the

taking.

3. (a) Distinguish between centralized ind Decentralised Purchasing.
{b) What are the advantages of Perperual Inventory Svsiem?

() A company manufactures a special

were collected in vear 2017,

Cost of placing an order — Rs, 100
Annual Carrving Cost per unit — Rs. 15
Normal usage — 50 units per week
Minimum usage — 25 units per week
Maximum wsage — 75 units per week
Re-order period — 4 10 6 weeks
Compute from the above:
(i) Re-order quantity,
(ii} Re-order level,
(iii) Maximum level,
(iv) Average stock level

{Weeks in a year 52)

4. (a) Distinguish between Allocation and Apportionment of Overhead to cost

cEnires.

2016

4
4

product A. The following particulars 2424241
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ib) Distinguish between Normal Loss and Abnormal Loss.

(¢} A manufacturing company disciosed a pet loss of Rs. 3.47.000 as per their
cost accounts for the vear ended 31st March, 2017, The financial sccounts
however disclosed & net loss of Rs. 5.10,000 for the same period. The
fllowing information was revealed as u result of seruting of the fizures of

beath the sets of socounts.
Particubirs Amount  Amouni
R Rs.

Faciory Overheads under absorbed - A, 0
Administration overhead over absurbed 60000 -
Depreciation charged in Financial accounts - 325000
Depreciation recovered in cost scoounts - 2750400
Interest on investments not included in cost accounts G (KR -
Income ti provided - 34,000
Interest i loan funds in financial accounts - 245,000
Transfer Fee 24,000
{Credit in financial books) h
Stores adjustment 14.000
{Credit in financial books) .
Dividend received - 32040

Prepare n Reconciliation Statement between the figure of Net Loss as per
cost sceounts and figure of Net Loss as per financial accounts.

5. (w) Distinguish between Stundard Costing and Budgetary Control.
(k) What are the reusons for Labour Efficiency Variance?
(¢} A company ammually manufactures and sells 20,000 units of a product. the
selling price of which is R.-..Sﬂmd profit camed is Rs. 10 per unit.
The analysis of cost of 20,000 units is;
Material Cost — B 300,000
Labour Cost — Rs. 1,00,000
Overheads (30% variable) — Rs. 4,00,000
You are required 10 compute;
(i) Break-even sales in units and in rupees,
(i1} Salesto eam a profit of Rs. 3.00,000,
(iil} Profit when [5.000 units are sold.

R 3

242+2

Tim Owver
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6, (&) Explain the term ‘Break Even Point’ and give its uses, 4
{b) What is the importance of Cash Break Even Point? 3
(¢} From the following particulars of Suzanta Lid., compute Machine Hour &

Rate.

Particulars Amount Rz
Cost of machine 114,800
Installation charges 5,400
Anticipated life of machine -10 years
Residual value at end of 11} years 3000
Rent and rates per annam 12,000
Insurance of the machine per annum 3000
Repairs and mauntenance per annum A.040
Consumable stores per annum 1,200
Total production services per annum 1 %0

Power cost is 5 units per working howr @) 40 paise per unil. Setting-up time
{Mon-productive) is 400 hours per annum, There are 300 working davs of
K hours in o vear.

7. {a] What are the differences hetween Process costing and Job costing”?
(b} What are the requirements of a system of material control?

{c) A product passes through two distinct processes A and B and then 1o
finished stock. The cutput of A passes directly o B and that of B passes o
finished prodoct. From the following information, you are required tw

piepare Process Accounts,

Process A Process B
Material consumed Ras. 12,000 s, 6,000
Direct labour - Rs. 14,000 Rs, 8,000
Manutacturing expenses - Rs. 4,000 K. 4,000
Input in Process A (units} - 10,000 units
Input in Process A (valugy - Rs. 10,000
Output {units) - 9400 wnits B 300 unils
Nommal wastame - 2 L
{percentage of input)
Value of Nommal wastage Rs X Rs, 10
{per 10 units)

No opening or closing stock is held in process.

2016
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#. (a) What is meant by Labour Turmnowver? Discuss ils causes. 244
(b} Briefly describe the different methods of costing. =
{c) Give a specimen of Cost Sheet with suitable illusteations. 4

GROUP-B
Answer any four questions from the following S#4 =20

9, {a) Distinguish between cost unit and cost cenire, 5
{b} Differentinte between Cost of goods sold and cost of sales. 3
(c) Briefly explain the different objectives of cost accounting. 3
(d) Write a short note on Responsibility Accounting. 5
{¢) Dvaw a specimen Material Purchase Indent. 5

{1} What do you mean by reorder period? How is it different from reorder level? 2+3

(2} What are the features of Halsey Plan? i)

{h) How is normal idle time treated in cost accounts? 5
GROUP-C

10.  Answer any fen questions from the following: 2x10=20

{a) What is Profit centre?

{b) What is Compound Cast unit?

{c) Give the formula of Rowan Premium Plan.
(d) What are the components of total cost?

{e) Explain semi-variable overheads.

{1} What is unilorm costing?

{g) Define overhcads?

HWIG 5 1'iem Cheer
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2006

(h) What is Prime cost?

{i) What is job card?

{j) What is scrap?

(k) What is abnormal idle time?

{1} What is Machine Hour Rate?
(m} What is Bin Card?
{n) What is Economic Order Quantity?
{0} What is meant by Dial Time Records?
(p) What is Piece Rate System?
(a) How many types of classification of overheads are possible?
{r) Whai are the basis of apportionment?
{s) What is meant by sub-contract?

(t) What is escalation clause?
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COOCH BEHAR PANCHANAN BARMA UNIVERSITY
B.Com. General Part-11 Examinations, 2018

SECRETARIAL PRACTICE-GENERAL

261
UNDER-(I+1+1) SYSTEM

Fime Allotted: 2 Hours Full Marks: 50

The fleures in the margin indicate full morks,
Camdidates are required fo pive their answers in their own words as far as practicafle

GROUP-A
fast- %

Answer any mwo questions from the following 1532 =30
FufiRe ci-cein §f0 an Ted wa

l. [Yiscuss the modes of sppointment and qualifications required of & F5+5
Panchayat Secretary. What are the functions of a Panchavat secretary?

TS Fb FEE a8 W SO (IeTEe i W) w=E | SR
TG S

2 What is meant by filling? What are the different methods of filling in vogue? 2H6+7
[iscuss the comparative advantages and disadvantages of such methods.

A e @ e o WeeeEew Wi 5 el wieme o)
Wi SR HR Rl wres =)

E Define meeting. Describe different types of company meeting. F+10
welq woes wia | Tafen gem orrerElmen e we)

4. What is an office” What is office correspondence? Discuss the advantages  3+2+10
and disadvantages of centralized comespondence department of an office.

i & o Ffen ww-ffam sn am p oF D enfine oy s
sty = wpirel e =

2163 Tum Creer
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5,

GROUP-B
Frs.
Answer any fwe questions from the following:
Fersfirfing cu-con 10 210w T wes
{a) What are the qualifications required of a company secretary ?
APl FibTAR eiEEsen e
(b} What is a notice of a meeting” What are s requisites?
wer e T ¢ 03 T SemmeE R
{¢) Discuss the duties of a chairman in a general meeting.
HEt HereiEe woaale A W s
(d) What is *Status enguiry letier™
WL W Ty

GROUP-C
Tawrl-a

Answer any five questions from the following
e - ofsf e T we:
{a) What is meant by geographical method of filing?
BTt (Srifes vl gnre s i e
(b) What is the origin of the word “secretary ™7
Secretary TwIa T e wom ¢
i) What i5 casting voteT
s (= T ¢
(d) What is quarum n & meeting”
el v 7 o
(e} What i personal assistant”
s T e
if) What is meant by call afention mation?
%% w e g
(2} Who signs the Memorandum and Articles of a company™
il carenaa witcan aw o wfacue Fredics o wre e ¢
th) What is the meaning of Adjourn meeting
e e o g

Pud

2165
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COOCH BEHAR PANCHANAN BARMA UNIVERSITY
B.Com. General Part-11 Exsminations, 2018

MONEY AND FINANCIAL SYSTEM-GENERAL
202

UNDER=(1+1+1} SYSTEM
Time Allotted: 2 Howrs Full Marcks: 50

The figures in the margin indicate full marks,
Candidates are requived to give their answers in their own words as far as practica Ble

GROUP-A
feratsi-+

Answer any twe questions from the following 15=2 = 30
feraisrinre co-con g0 eivea Baw we

L. What are development banks? How are they different from the commercial S45+5
banks? Outling the structure of development banks in India.

TS TS w6 SRS W o0 TR EEE O SR Wi e e
g

FJ

[¥iscuss the role playved by RB1 towards development of Indian lnancial 15
system.

TEET wiE G BEiE RBI @2 s S W

i} Write down the important objectives of [DBL Point out @ts sources of at5+s
finance. State its functions briefly.

IDB] -s7 W Twensf ore EE wdwnEeE Soiel o e T
vt A ad T

4. {a) What arc the features of deregulsted Inmerest rates” 748
Tafmfire e wre el Rl e
(h) Mention the causes why there is interest rate differential in Indis.
SRS TS T O S0 SETE TR TR T )

46 i Tum Cver
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GROUP-B
fara-

5 Answer any two questions from the following:
s oo 8 =it Taw wiss
(a) Mention the main objectives of establishing 1FCI.
IFC | %# saam 5o Srwirafi By =)
(b} Write a short note on SIDHL
SIDBI g4 By aosfl e B o)
{c) Mention the main differences between commercial banks and NBFIS.
aFfer G & R S afEvmalEE G e wode e S I
{d) Write a short note an prime lending rate.
Prime lending rate -«@ Bom qmfh B e

GROUP-C
famm.

6. Answer any _ffee questions from the following;

Terafiere oo #f5f e Tem we:

{a) What is SLR?
Tafeas o@mETR e

(b} What 15 mutual fund?
Faeare e [ ¢

{c) What 15 indigenous bankers?
e e T o

(d) Why is central bank called “clearing agent™?
e Armoe T oee e ¢

(e} Distimguish between gross interest and net interest
1 3 & B o I ==

(1) What is chit fund
s wr ey

(g) What are the subsidiares of GIC?
Gl -2 Wity T afsememE fefe e

(h) What is bank rate?
T Ay

246

2x5=10
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COOCH BEHAR PANCHANAN BARMA UNIVERSITY
B.Com. General Part-11 Examinations, 2018

ECONOMIC PROBLEMS-GENERAL

2G3
UNDER-{I+1+1) SYSTEM

Time Allotted: 2 Hours Full Marks: 50

2118

T fignres in the margin indicate full marks,

Candidates are requived 1o give their answers fre their own wardy ax far ax practicable,

GROUP-A
Taam-=w
Answer any mwe questions from the following 152 =130
ot CU-CoIwI D nwd 8 We
Explain the objectives of GATT. State the functions of IMF and world bank 54543

in bnef.
GATT-o Towgaim S o wpverfs g el (IMF) < B I
( World Bank -2 o srscs e o)

Explain brieflv the main festures of a developing Country with special 15
reference o India.

SEEd Wre o SameRm oree o AEeR wrsne S e

Outline briefly on the Present system of agricultural credit in India. Mention Oy
the changes that you observed in it during the last four decades.

T TAED FH 99 AT WMOWCH WEEGE FEN TE B W §E
wiirdaaf wa e wm w B e

Whit are the causes of Industrial sickness in India? Examine the recent 748
pithicy of the Governiment of India regarding this matter,

e Frea wwen Tdel syEwa el of <P s s W
"8 aER A ST

Tusm Uhver
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GrOUP-B

fermt-w
A, Answer any fwe questions from the following:

Fifeitere cu-comen 1% amem e wes

(2) Discuss the effects of population pressure on Econamic Growth,

wdAiE g Tom e o4ER TREA 3

{h) Give five Arguments in favour of Privatization.
e s il 1 we

() Mention the source of rural credit in India
i v BeAaiE ST

(d) What 15 the basic role of NABARD in rural developmient?
sHfale BEHR N NABARD &7 ST | s |

GrOuP-{
Tawrt-n
6. Answer any ffve questions from the following:
frrsfefs ore ofsf amm Teg wat
() What is fiscal Palicy?
Fiscal Policy %8708 & @ ¢
th) Write two functions of IME,
IMF - 50 %o Beers s
(e} What is BPL?
BPL =0s & (e ¢
id) Define Inflarion.
THPIFTE TS i c 8
{#) Whal ix Bank rote?
Bank rate & 4
(N Whatis SDR?
SDR 978 & e o
{2} What is Poverty?
wiidEy e f s
(h) What 1s Black money?
e Dl T o

el

2118
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Time Allotted: 2 Hours

=113

COOCH BEHAR PANCHANAN BARMA UNIVERSITY
B.Com. General Part-11 Examinations, 2018

COMPANY LAW-GENERAL

2G4
Unpir-{ 14141} SYSTEM

The flgures in the mavgin indicate full marks.

GROUP-A
Frsiv-

Answer any fwe guestions from the following
Frsfifas crconan 510 = Toa we

Define a Private limited company and a Public limited company. State the
speciil privileges and exemptions enjoyed by a private limited company as
compared to a public limited company.

=iEeh WD i o sl FiEs crrene el wie) e BREEs
T g SEres Fiane e o e HeE R e w5 e =
EEE N

“The memorandum of sssociution 5 he lundomeninl ow or o charer
defining the objects and limiting the power of o company™ — Explain.

o A% ceeneia ol G W@ A e, W s S & wEeE
oSl forframt " wrn =

Define stock and shares, Distinguish between share certificates and share
warrants. Name different types of share that are wsually issueed by any
company.

ST CRE-A T RS | O RAEET S (R SA-a W e
[Pt A1 @A CEPRIA HIMETE (] e S (YU 26 (issue) A0S
o, TR =R (R

Define the term “monuger” as per Companies Aot 1956, Distinguish
between “Managing Dhirector” and “Manuger,”

Tl BB | 956 WRHIA e | Munager)-£% ¥aa] 50 GIYHE a7
AEIE] FAOEEET W i e o

Full Marks: 50

Candidates are required fo give their answers in their own words as far ax practicable.

15%2 =30

S+l

13

55

LR

Tum Chver
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GROUP-B
st

5. Answer any e questions from the following: §uZ =10

RuiEE G- K e B
o} What i5 a prospectus? What stands for a statement in liew of prospectus?
et #a & ¢ =ftae Raee «m 9=0e & a5
{h) What are the modes of dissolution of a company?
-ty e Bommalr 4 v
¢} Distinguish between share certificate and share warrant,
COE FIDACED 9 (ST STECD W e e
{d) Company has o separste legal entity, Discuss,
P o o WA T WE - WEEn 1R

GROUP-C
Farse.s

f Answer any five guestions from the following: 2uS = 10

fersfinfie o (-reme ofsfe =ire Taw el

{u) What do you mean by qualification shares?
ey ferdiras om0 9 Gt o

i) What is compulsory winding up?
AprgE coral b e o

(£) What 15 centificate of incorporation?
HGECes W Temarefier T [ ¢

(d) List the provisions of the Companies Act, 1956 relating w0 payment ol
remuneration to directors of a company.

1956 FR @A SER W e s sifeefie e
el @
(e} 1s company a citizen?
i s An s
() What do you mean by liability clause?
e e fa G v
{2} What do you mean by nominee director?
WAATE *fEnEs s W o ¢
th) Can an insolvent be the director of o company ?

e csfemn Fa cmmedla wfaves oz v

Pl

21153
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COOCH BEHAR PANCHANAN BARMA UNIVERSITY
B.Com. General Pari-11 Examinations, 2018

APPLICATION OF INFORMATION TECHNOLOGY IN BUSINESS-GENERAL

2GS
UNDER-{1+1+1) SYSTEM
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicare fiull marks,
Candidates are reguired to give their answers in their own words as far as praciicable

Group-A
Tasm-=
Answer any fwo questions from the following 15=2 =30
e or-ce §fF e Taa e
l. (a) What do you mean by clectronic spread sheet? I+3I+I+6

Electronic spread sheet T & cuil ¢

(b} What is the difference between function and formula?
Function &% Formula-a1% W) o % 9

{e) What is absolute positioning? Explain with suitable example,
Absolute positioning 7 ¢ T Twmad wie)

(d) Discuss the application of Goal Seek in electronic spresdsheet with suitable
examples.

Electronic spreadsheet-d Goal Seck-4% &I SwEmemnes GERG)

2. () What is E-mail? F+4+4-+4
E-muail & 2

(b} What are the advantages of using E-mail by a business organization?
& AR A E-mail T ffen sRoei To T

{c) What are the drawhacks of using E-mail 7
E-mail =rome e wRaefs &y

(d) What are the differences between LAN and WAN?
LAN &% WAN-d/ g sndey f5 9

2111 | Twm {ver
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3. (a) What is EDI?
EDI F& ¢
{b) Why do business organizations use EDI for business transactions?
A W T TR ED T S e

{c) What are the disadvantages of a non EDI system that business organisations
face?

s maaei non EDI system-a% w1 & & eRem ¥R e m ¢

4, {a) What do you mean by protocol?
Protocol T8 & @ »
(b) What are internet protocols?
Internet protocols 7 9
i{c) Explain File Transfer Protocol and Hyper Text Transfer Protocol.
File Transfer Protocol €95 Hyper Text Transfer Protocol ##rs & caicat ¢

Group-B
fasm.u

. Answer any hw questions from the following:

Tl e ¥ sioe T W

(#) What is browser? Why is it used?
Browser ¥ ¢ 09 w1 s w0 ¢

(b} Write a short note on TCP/IP protocol.
TCPAP protocol 90 wefeg Bl e

{c) Write five features of Tally.
Tally-az =6 tafE; Srem e

(d) What do vou mean by database? Explain RDBMS in brief.
Database e F& @A § RDBMS F90% 3w ahm we |

Group-C
st

6. Answer any five questions from the following
Forsfifire v oo ofsf® iews Dww ma
(a) What is ‘HTML"
HTML ¢
{(b) Whai is *Home Page”
Home Page By

21

5x1=10

243

2+3

225=10
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2101

() What does SOL. stand for™?
SQL 7=0% & coan »

{d) What is logic bomb?
Logic bomb 7 7

(€} What is Web chat?
Weh chat B ¢

{f) What is SWIFT?
SWIFT = ¢

{g) What is a dighal certificate?
Digital certificate 7 ¢

(h) Whit are smart cards?
Smart cards 7 ¢

{i) What is a firewall?
Firewall 7

(i) What is broad band connection?
Broad band connection & 9
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COOCH BEHAR PANUHANAN BARMA UNIVERSITY
B.Com. Generad Par-1] Examinations, 20108

FUNDAMENTAL OF ENTREPRENEURSHIP-GENERAL

266
UNDER-(1+1+1} SYSTEM
Time Allotted: 2 Hours Full Marks: 50

e figures in the margin imdicate full marks,
Candidates are required to give thelr answers in their own words as far as practicable.

GROUP-A
Tren-=

Answer any fwe questions from the following 522 =30
feraieting co-coen &fe ared Bem e

l. Discuss various social responsibilities of an entreprensur. 15
e whaiEE SAfTyarE wiEs A

b

Whar do you mean by EDP? Discuss the roke of a Stare Govermment apart i 1)
trom state financial corporations i promoting and giving boost to EDE.

B Bewe o= (EDP) B v aren el ssaeEd) wmefor am o Eppa

T A Bewis el g aren s e g ars o e e

1. Discuss about the technical, Ainancial and commercial aspects of feasibility 5+5+5
stidy
Feasibility study=% 0 ergfers, wifds o airfers el wes =rema
oAl

4. What do vyou mean by Intellectual Property Rights? How s Tntefleciual 5410

Property Rights protiected for the entrepreneurs”

Intellectunl Property Rights #9908 [& (081 ¢ SE@0Ha ntellectunl Property
Rights et ainws =1 ¢

| I Furm [ Peer
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b

. 8

GROUP-B
farste.=
Answer any fee guestions from the following:
TriEie oot #fF sowe Beg wat
(2} Dhscuss social changes theory of entreprencurship.
B wriies wfads wRl womsa )
{b) What 15 the role of a Government as entrepreneur”
S| B FEeTE Sl e
(&) Define entreprencurial ethics. How can this be observed?
ETMHER i T PRI W We REera o5 wER w5 e v

{d) MName the different classes of entreprencurs. Why is an entreprencur called a
visionary”

Bruiret el an oot aees Tt sfRreEl e T o o

GROUP-C
Tawtsi

Answer any five questions from the following:
s - st e T wal

fa) Who is drone entrepreneur?
TEr BT 0 WE Y
(b} What do you mean by project?
Y T 90
{e) What is SIDBIY
a wrd s T = (SIDBI) B p
(d) What stands for balanced regional development”
wew wisle Bawe e i c o
ie) Define company form of entreprencur.
S el S e e
(1 Distinguish between equity share and prelerence share.
Equity-share @ Preference share-£7 5030 #1508 (A
(2) Whar s PSLUT
psu Ty
(h) What is SWOT analysis?
SWO T Frmms S a0 v

3=1=10

243

x5 =10
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COOCH BEHAR FANCﬁAHAH BARMA UNIVERSITY
B.Com. General Part-11 Examinations, 2018

FINANCIAL ACCOUNTING-GENERAL

2G7
UNDER-(14+1+1) SYSTEM
Time Allotied: 2 Hours Full Marks: 50

The figurey in the margin indicaty full morks
Curndidates are reguired to give thelr amovery in their own words ax far ax practicable

GROUP-A
Fergini-s

Answer any fww questions from the followmg P5=2 =3
Frafefirs ou-cn g = Bea e

| P, () and R gre partners sharing profits and losses in the ratio of 2:2:1, They [ s vt
hove decided to dissolve their firm. The balance sheet o thar point of time

stiod w5 (ollows:

_ Lisbilities | Rs.| Assts | Rs|
Capital A/C P Rs. 20,000 | Machiners 12,000 |
Capital A/C @ Rs. 10,000 Fumiture | 8,000 |

Capital A/C R Rs 10,000 40,000 | Investments 10,000

| Current Account: Stock 10,000 |

P Re 5000 | [ Sundrydebtors | 13,000

Q. Rs 3000 | 8,000 | Cashat Bank | 9.000

| tieneral Reserve 10,006 | Corrent Acoount;

Sundry creditors 5, K K 2,000
Priw. for bad debis 1,008 | — i =
== 4,000 64,000

The following smounts were realized from assets:

Machinery - R, 15,000, Furniture- Rs. 12,000, Stock- Rs. 6,000 and debtors
in fll. B ook over the investments at book valog, The creditors allowed
10 % discount. Expenses of dissolution amounted 1o Rs. 200, An unrecorded
asset of Ra. 1,320 was taken by P ai Re, 800, An unrecorded lisbality of Rs.
100 had to he paid.

Propare;

(@) Realisstion Account

(b} Partners” Capital Accoum

{c) Bank Account.

Farm Civer
2128 |
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i

On 1st April, 2017, Samar commenced his business as a mobile whaolesaler
with a capital of Rs. 10.00,000, On the same day, he purchased furniture in
cash lor Rs. 3.00.000. He kept his books of account by single entry,
Following are the particulars of transactions during the year ended 3ls
march, 2018:

R=
Sales (including cash sales Rs. 7,00,000) 700,000 |
 Purchases (including cash purchases Rs. 4,00,000)  15.00,000
| General ﬂpenm j:lﬁrd in cash 0L ,
Bad debes = 500K |
Drawings hy Samar in cash 120,000 |
Salaries paid in cash | 2.45.000 |

Samar took a mobile worth Rs. 5,000 for his personal use and gave Rs
20,000 to his son out of firm’s cash but these ransactions were not recorded
in the books of aceount.

On 317 march, 2012 his Sundry Debtors were Rs. 5,635,000 snd his sundry
creditors were Rs. 360,000, Stock in hand on 31st March, 2018 was Rs.
i, 301, 00,
Provide depreciation on Furniture &t 10% p.a. Prepare trading and profit &
boss Account for the vear ended 3 1st march, 2018 and a Balance sheet as on
that date.

Also show the workings for total Debiors Account, total Creditors Account
and Cash RBook.

From the following particulars which have been extracted from the books of
X Lud. for the vear ended on 31.12.17, prepare a general ladper adjustment
account in the creditor’s ledger and & Debior’s ledger Adjustment Account in
the General Ledger:

Pnrﬁq:u]m Amouni in Rs.
Debtors’ Balances on 01.01.2017 (Dr.) 10,000
Debiars’ Balances on 01012017 (Cr.) T 150
Creditors” balances on 01.01,2017 (Dr.) 1)
Creditors” hu]a.rr:as on 01.01,2017 (Cr.) I 7.500)
Purchases (including cash Rs. 2,000) 6000
| Sales (incloding cash Rs. 3,000) 12,500
| Cash paid 10 supplicrs 4,250
| iacount cma 250
- Cash recerved from customers 7,050
| Discount allowed 430
| Bills payable acoepted 1,000
' Bills receivable received B - | 500)
Bills receivable dishonoured 200
Return outward 500
Debetors balances on 31.12.17 (Cr)) 5
| Creditors balances on 31.12.17 (Cr.) e 5435 |
2

2+-4+3+2
+242

847
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4. What 15 Govermment Accounting? What are its features? List the dilTerences 6
between Government system of Accounting and Commercial system of
ACcounting.

e PEEw oy g ke fe o el v e & ot
fewrrss araa wtay ndeiie i Tl 30

GROUP-B
e

-} Answer amy few guestions from the following:
rreferfere oo % amn Bew et

{a) Aand B are partners shaning profits as 7:5, They take C as partner and the
new profit sharing ratko becomes 5:3:2. Good will is valued at Rs. 12,000, C
brings Rs. 22, 400 {including premium for Goodwill) as capital in cash, Pass
necessary journal entry,

(b} Distinguish between “Receipts and Poymenmt Account’ and ‘lncome and
Expenditure Account’,

" U TR O B e W (e s ey side e

{c} What are the main features of ‘Branch Business'™?

“ujel] T g g el Ry

{d} Write down the differences between “ordinary sale” and “sale on Approval or
Rewrn’ basis.

‘Ondlinary sale’ &9 *Sale on Approval or Return’ Basis 4% =28y 50 +mim
FEN

=
]
Ead
1]
_—
=

GROVP-C
et of
6. Answer uny five questions from the following: 2=5=10
it e ofsf8 aiosn e was
(a) What is parinership deed?
‘Partnership deed” & ¢
(B} Give two examples of contingent liability.
‘Contingent liability'-&% 976 Twrs @e )
(€} Calculate closing stock at Branch fram the following particulars:

| Rs.

_____ ing stock at Branch. 40,000
Goods sent 10 Branch | 1,20,000 |
Cashsales L7000
| Petty expenses L L000

It is given that the branch sells goods at cost plus .'-I?i%'.ri:-.

3 Tuam Cwer

212K
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{d} Mention two points of distinction between *partnership” & *joint venture'.
‘Partnership’ 9% *Joint venture” &% W0 w15« Gres @)

(e} Define *Financial Accounting”.
*Financial Accounting” &% MR8 W&

(f} What is meant by ‘dissolution” of partnership firm?
el e e 2sre B e

(g} Listtwo points of difference between single entry and double entry system?
ey Wi vEE @ wE e wie vwiee W e @)

(k) Define goodwill of a business.
W R A 9o e ¢

228
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COOCH BEHAR PANCHANAN BARMA UNIVERSITY
B.Com. General Part-l1 Exanunations, 2008

CORPORATE ACCOUNTING-GENERAL

2GR

UNDER={1+1+1) SYSTEM
Time Allotted: 2 Hours Full Marks: 50

The fgures in the margin indicate fill merks.
Carneflatates are reguired o give thetr aaowers i their own words ay far ay practicable,

Group-A
faem-=
Answer any fwe questions from the following 15=2=30
Tl ot ¥f5 aives B5w e
. The Balance Sheets of P. Lid. and Q. Lid. as on 31032017 wene a5 under: 9+6
L Liabilities e Assers
|  Particufors | Lad [ Q. Particulsrs Pl | AL,
" it ' F"E R __HS_. | ST Hs. - M
Equity shares o | 500000 | 400,000 | Goodwill [ 100000 | 2,000
|Re Weach | | |
| 10%: Preference | 4000000 | 2000000 | Land and | 4 B0,000 | 2 R0 000
Shares of Ka. [ Building
I0Geuch
CGeneral Reserve | 120,000 Pt anel SAWLO00 | p 0T
Machinery, | | |
Securities Ty 00 20,000 | Furnituee 1 s, () ), (A
_Premium i
Profic 2ad L Bl A0 SO0 | Invesmenis ALK | 0L EH 006
Al
(108 debentures 90,000 | 60,000 | Stock L0000 | #0000 |
Sundre Crediioe il (KK 3000 | Debtars KON | 70,00
Bark 20000 | 40,000
Discount on 3.000 |
b ool -
deberiures |
- 1280000 | 7,650,000 | | 1280000 | 760,000 |

A new company PO LAd. was formed on 01042017 10 acquire the business
of P. Lid. and Q. Lwd, with an authorized capital of Rs. 15,00,000 divided in
equity shares of Rs. 10 each. The terms and conditions of acquisition were
ns under:

(i)  The business of P. Lid. was considered worth Bs. 11, 50,000 and was
discharged by issuing 57,500 equity sharés of Rs. 20 each.

2117 L Cheey
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(1] The business of Q. Lid. was considered worth Bs. 550,000 and was
discharged by issuing 27500 equity shares of Rs. 20 each,

{iii} Liquidation expenses of P, Ltd. amounting to Rs. 10,000 were paid by
PGy L

(iv) 12.000 equity shares in P.Q). Ltd, were issued to the public at Ra. 20
per share.

Pass necessary journal entries in the hooks of transferee company and
prepare its Balance Sheet by following AS-14 in the nature of merger,

2. The Bulnnce Sheet of X, Lid. as on 315t March, 2007 was as under! 1045
Listslities Amsit Assets Amouat
its. Rs.

SAKID gquity shares of Rs. 1 FO000  Fixed Assels HEEL LT

cach

JAKHL, 8% Preferente Shases 2000 6% Investments [ Tace BT

of He: [0 each Walue Rs, 350060 @i coast

T4 Dehenisires SILIEHD  Seock BRALL

Reserves and Surphis ML Diblors 2E (1

Sundiy ereditors 25000 Cash ot Bank 301K
1,54 (6 1.55,00in

The folkvwing additional information is given:

{1} Fixed assets include land and building shown in the balance sheet at
Rs. 25,000. Present market value of which is Rs, 40,000,

(i) Profits for the last three years {(before tax) were Bs, 45,000, Ra. 54,000
and B, 69,00 respectively.

{iii) Dividend paid on equity shares for the last three vears were 18%, 23%,
and 25% respectively.
{1v) Normal return on similar equity shares 15 12% per annum.
Cabeulate the value of an equity share under yield method: -
(@) on the besis of refurn on capital.
{b) on the basis of Dividend.

3. (@) Mention the principal books of accounts maintsined by a Bank. B+7
e ewr fEwm 9geis Sres =)

(k) What are the main sources of income and expenditure of a Bank”
AIES =M & T = Tamawm g

4. {(a) What do you mean by Double Account system? S+10
T TR ie e R o e

(b} State the main features of Double Account system.
T s e s PRreln ofa =om)

=4

21T
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Giroup-H
faam.=

5 Answer any e questions from the following: 2= 10
frafefee - T arm a2 e

ia] How do you allocate the amount spent on replacement of an asset to Capital
and Revenue™

wif efvmerm v afvs =d puserdn s gareendn oo feee 9%
T Y

ib1 Wnte a shorl note on Asser backing method of Valuaton of shares.
(el ST Assel hacking” vieTea Svia = e B e

(¢} Why b5 a company required 1o reduce its capital?
Gt T e E S me ¢

(dy What are nioi=bank g mssers?
e «m s e s o

Lyroup-0C
et
. Answer any five questions from the following: x5 =10
Frafafere oconm ofsfd are Sem wet
(n) What is Statutory Reserve of a Bank?
anres Tafter whafs e 9 ¢
(b Mention two items of assets of a Bank Balance Sheet.
At Bud=iten w5 wifae Toew sl
(e} What is Bevenue Account imder Double Account svsiem?
tae feom wmie waudl il femere &y
(d) What &5 Goodwill?
A FICE W ¥
(e} Write twi-methods of valuation of share.
ot sEmmace o vl cact
(17 What do vou mean by fictitions asset”
e eeifE Tw0e [ o v
(g) What is Imternal Reconstruction of & company?
Il WrETEEY w4 v
(h) What is Capital Reserve”
e vilE A A

27 3
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COOCH BEHAR I‘ANCI;.AHA.H BARMA UNIVERSITY
B.Com. General Part-11 Examinations, 2018

BUSINESS STATISTICS-GENERAL
209
UNDER-{1+1+1) SYSTEM
Time Allotted: 2 Hours Full Marks: 50

I'he figures in the margin indicate full marks,
Candidatex are reguired to give their answers in their own words ax fur ax praciicable.

Groop-A
st
Answer any fweo questions from the following: 15x2 =30
Trsiwie e §F s T wes

1. (a) Calculate mean and median from the following data: 545
Frerire we cure Rl o « T el T
Age in years
HE

Nao. of persons
TR TG

15-25 25-35 3545 45-55 5565 65-75

11 19 14 1] 2

(b) Y, =x; & (i =12 .n) where ¢ is constant, prove that X =¢ + p. X
T ¥, =x —clf =12 ..n) 50 OMIA o W@, om aue sm o,

Emowj.

2. (a) Compute standard deviation and mean deviation from the following data. {&+6)3
Freferfire s curs e Ry e me Rpfe B s

Mlarks 20-29 | 30-39 | 4049 | 5059 | 6069 | 770 | moR9 [ wibe |

e 9

Mo of Stadent 5 12 15 26 18 n & 4

wE

(h) Define Range and Quartile deviation.
#77 (Range) 9 ¥2¥w FfE (Quartile deviation ) &2 e 71 |

10 i Tum Cwver
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3. (a) Find the co-efficient of correlation from the following data.

Frafire o o weelEedS 08 (Correlation Co-efficient) =

=64l
X: 6% & 47T M 6% 62 70 &6
¥Y: &8 66 68 65 60 66 468 465
(b} Find the regression equation of x on ¥ from the following data:
et vy oo =femrs slteas (of x on ) e T
¥ = 63A -8 ¥R Pl o

Yor=24 Fy=4 Fay=306

Yxr'=164 Yy =574 n=4
Find the estimated value of x when v = 6,

4, (a) What are index numbers? Mention three uses of index numbers.
5w A % ¢ 75e A el g Boew e
(b} Find the cost of living index number from the following table.
Frafeiirs e care S wam = g ek =)

Giroup Index No. Weight

Food 428 45
Clothing 240 15
Fuel and light 200 8
House remt 125 20
Miscellaneous 170 | d

{c) Examine whether Fisher's ideal index formula satisfies time reversal test
e e o Trsices el e Fn Al o el sl e e g

Group-B
fe=i-n
5. Answer any fwer questions from the following:
frffre oo ol-coen 8 eiom Tes wes

{a) The arithmetic mean of two positive values of a vanate is 25 and their
geometric mean iy 15, Find (i) their harmonic mean (i) the two observations.

Tl GRS W SIS Wil AETES 6E 25 6 uaen e 15 5 e e

e € e We % T e

ih} A frequency distribution gives the following resulis -~ (i) Co-efficient of
variation = §, (i) Varance = 4, (iii) Karl Pearson’s co-efficiemt of

Skewness = 0.5, Find the mean ond the mode of distribution.
wafl =l Rretea s g e -

(i) CE¥ME-5 (ii) Varance = 4. (i) % PRS2 Co-efficient of

Skewness = (0.5, A% 15 &2 Mode Fefnsmn
10 2

6+2

(243)+5+5

Sx2=10
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(¢} Caleulate the seasonal indices in case of the following guarterly datn in
certain units.

T W] (00 Seasonal indices Tl Bt

Yer Q) 4 Q Q.
10 3% 24 e a1

I 45 23 43 Th
el 44 36 49 7S
1983 455 23 64 B4

{d) From the following price and quantity dats, compuie Paasche’s price index
number for 1980 with 1970 as base.

Price Quiantity
(Rs. Per Kg)  Sold (Kg)

1970 1980 1970 1980
Commodity A: 4 5§ 95 125
Commodity B: 60 70 118 130
Commodity C: 35 40 50 70

Terare W o ofFOe T e 1970 o fefe 2o W@ 1980-7 Paasche's
price index number ¥4 @2

Group-C
s
&, Answer any five questions from the following: 2x5=10

e i co.core =67 sfoem Bam war

(a) What do you mean by Skewness and Kurtosis?
Skewness 8 Kurtosis 0% & @ »

(b} What do vou mean by Primary data and Secondary data?
Primary data '8 Secondary data 3908 % @i ¢

(e} What is the relationship between AM, GM and HM.
AM, GMeHM e e

(d} What is dispersion?
frghs % ¢

{¢) Name the different components of time series.
FEa R wsre [ e

if} What is circular test?
Circular test 7 9

{g} What do vou mean by cumulative frequency?
FFapiie wffEme e fE oo o

2110 3



